QUIZ FRIDAY

Label unit circle with radian
values AND coordinates, then
answer questions regarding
all 6 trig functions.

30 points
No calculator!
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Part 1 written (10 points)

Label unit circle with radian
values AND coordinates.

Part 2 online (20 points)

Answer questions regarding all 6
trig functions. Two attempts per
problem will be allowed.

30 total points
No calculator! @
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TODAY’S ASSIGNMENT #1-50...NO CALCULATOR!

CHAPTERS: UNIT CIR S50 AN\ NAME:
e — "L [
A— X%V et
1}  The value of sin g is ﬂqﬁ?} Atx =" the difference 2 sin x - cos (2x) is
i gh‘"a
2)  Find the exact value of sin Lo 28) Ifgl)=tan (x- 1—2‘}, the value of g(x) is
6
3)  Find the exact value of cos (- :)_ 29) Ifffx) =cos ;+ sin x, then f{=) equals
i I
4)  Find the exact value of sin (- %"}. 30) K fix)=sin’x, then !‘[-i} equals
[
5)  Find the exact value of tan (- %"} 1) Kfle) =sin 2, then flx) equals
#6)  Thevalue ofsin el cos Ax is 32) Ifix)=4cos 3x, what is the value ﬁfﬁ%}?
2 3

p—— ] n
= 3 !-
‘i ¥7)  The numerical value of sin %’_‘ t coS : is 3) Kfx)=cos 3r +sin x, then ﬁg} b s

i 5 4
\ 3 ¥8)  The value of sin % +tan : is W) Bvolinte; gool+asc 2
3 ) in

_E %9)  What is the value of tan R +cos n7 35) Evaliate: csc El sec
n 3

* SRR 1 36) Evaluate: cot T tan =

10y  The value oficos = - sin =— is
*10) 3 5 2
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24)
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undefined?

P , ; 2
For which valne of 0 is the expression
e Tin @

. \ . 1
For which value of 0 is the fraction undefined?
€os 1]

Evaluate: (2 Arctan 1)
The value of Arc sin (-1) is
The valoe of 2(Arc sin 1) is

L]

Wse ?rmm gai ke

- Lb

If§ = Arc cos {13), what is the value oftan 87

The value of cos (Arc tan 3) is
The value of sin (Arc cos 1) is

What is the value of sin (Arc cos %}?
The value of tan (Arc sin %3) is

Evaluate: cos (Arcsin E"a)

Evaluate: cos (Arcsin (-1))
Evaluste: cos (A tan [-1])

Find the value of the expression, Arc sin (tan [- E]}. in
radians.

Find the value of the expression, Arc cos (sin —%}. in
radians.

Find the value ofthe expression, Arc tan (sin 3—;}, in radians
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43)

44)

45)

47)

48)

49)

30

Evaluate: sec® m-2cot %

Evaluate:  sin? %— tan »

Evaluate: 2 cos — tan —
3 [+
Evaluate: o©sc—-sec—
b
Evahiate: c¢ot 3 4l —
Evaluate: 2ta.n§+sir!| =
Evaluate: (3 tan %—cns )+ (cot f‘r
3n
CRC _f TEIJ'l —
Evaluate:
2 M|
BOCT —
3
: Ng)
Ewvaluate: sin (Arc cos [= --i—]}
g A\ \
Evaluate; tam (Arcsin [~ 2]} X
L\
= {\_ \
Evaluate: sin (2 Arc cos [-—
(2 [ 5 ) Q\ &‘tr
Evaluate: cos (2 Arctan [‘.n'g]]

Find the value of the expression, Arc cos (sin %}, in radians,

Find the value of the expression, Arc sin (tan E]. in radians.
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Hint for #40: To solve CSC _

you will first need to evaluate sin—
then use the reciprocal.

Hint for #30: sin” x = (sin x)’

Important: use principal values
for #11-26 and #45-50




Reminders from previous notes:

Principal values create a unique (one) solution:

SinO and Tan® — Quadrant I (+)

Lcp<”
2 2

Quadrant IV (-)
Cosd — Quadrant I (+)
Quadrant II (-)

0<0<rx

T UPPER CASE letters are often used to indicate
principal values (domain and range restrictions)



Sinb and Tan®0 — Quadrant I (+)
Quadrant IV (-)
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Reminder: alternative inverse notation

[ 1 [ J @ —1 1
arcsmi has the same meaning as sin >

1
IMPORTANT! Both can be rewritten as: Sin0 = E

V2 V2

. -1
arccosT has the same meaning as cos EY

arctan\/§ has the same meaning as tan_lx/g



